Q1.
40 +10 + 50 + 20 =

Q2.

Q3.

Q4.

Q5.

Q6.

253 - 138 =

175 +65 =

348 - 99 =

9x12 =

Use only these numbers to make a different number

sentence each time.

One is done for you.

5

40

40




Q7.
20 bananas are shared equally among
4 monkeys.

How many bananas does each monkey
get?

bananas

Q8.

Ben and Sita count cars.

Ben counts 38 red cars. Sita counts 23 blue cars.

How many cars do they count altogether? cars

Q9.

One length of a swimming pool is 10 metres.

Abdul swims the length of the pool 4 times.
Abdul works out how many metres he swims altogether.

Choose the two calculations that Abdul can use.

10+ 4 10+10+10+ 10
4 x10 4+4+4+4

Q10.
Ben has 75 cherries. He eats 28 of them.

How many cherries does he have left?

cherries




